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MISSION IBPS CLERK-2023 (TARGET BATCH)

What should come in place of the question mark (?) in following

number series?

frfeTRaa d@Ear sEe | uy f70g (?) o Tu= W

(2)245 (b)240  (¢)225  (d)260 () 265
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MISSION IBPS CLERK-2023 (TARGET BATCH)

What should come in place of the question mark (?) in following
number series?
freforRaa deat saer d (?) S TAT U AT ST TATTY?

5,\_/3.5,\/ Sv 25 21.5,\_/56.75

\_/
X054 XHS XISHE XQ+5 X543
(a) 7.5 (b) 8.5 y 9.5 (d) 10.5 OF,

Nl
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MISSION IBPS CLERK-2023 (TARGET BATCH)

What should come in place of the question mark (?) in following

number series?

8&/4’\,/4’\/&/32’
X05  X| XL XU

(a) 512 (b) 128 (c) 248 (d) 256
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MISSION IBPS CLERK-2023 (TARGET BATCH)

What should come in place of the question mark (?) in following
number series?

—

(b) 98 l (c) 1011 (d) 97 (e) 173
e

_Q?'L — 31 ———éll vsz
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MISSION IBPS CLERK-2023 (TARGET BATCH)

What should come in place of the question mark (?) in following

number series?
ﬁmﬁﬁaﬂﬁwaj@wﬁmﬁ%@(?)%wmw ?
0.5,\/1.5,\_/ 5v18v76v e
X+l x242 X3 XuHy X545

(a) 380 (b) 38 (¢) 390 (d) 375 (e) 395
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MISSION IBPS CLERK-2023 (TARGET BATCH)
el
WQ/ 0 @"Bf y. You have to solve these equations and determine relation between

> kfzxandy/fﬁﬂﬁ_'lf@ﬁgﬂﬁama?Xﬁyﬁﬁqwﬁl311'Q’6|ﬁ
RN Wﬁﬁ%ﬁm%aﬁ?xaﬁ?y%aﬁamﬁaﬁaﬂm%

__J,J—Y- jjl.msig — 6 —5j><%"'1 =10

In the following question two equations are given in variables x and

— | /II.@%Z _9 ,__({!XZ l %7

A.x>y B.x<y C.ny D.xSy
E. x=y or No relation can be established < %\(\5
IS Teier TATUT A fohaT AT AehaT 8 < <j VIV
SR
< }
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r@ MISSION IBPS CLERK-2023 (TARGET BATCH)

In the following question two equations are given in variables x and

JZZO' _ ,J 2o Y- You have to solve these equations and determine relation between
0" X and y.freerfa o i 21 e < x oty 3 B o ) Ry

_JAT = wrtamon @ we T E o x 97K y 6 sfrer wter Frertfd T S
~z6e I x=lo2

500x — /402

IR e B

S€yR \]70«7;

3 5 OAX>y B.x<y C.ny D.xSy
j 0\ E. x=y or No relation can be established

RS Tarer TTiua Tt fomam i1 wehar 8
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MISSION IBPS CLERK-2023 (TARGET BATCH)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y./fﬁﬂ'f?*l’?@'ﬂ'gﬂﬁa‘WWX ﬁyﬁﬁQW%l ATUeRT
3 THIEHTUTT Shl T AT § 3R x 3R y o el GEE (HUTRA T 2l
EY=10

S .
E. x=y or Non be established

SIS Tarer TATTU TE fohaT ST HehaT 8
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MISSION IBPS CLERK-2023 (TARGET BATCH)

In the following question two equations are given in variables x and
a5 -y 20Y- You have to solve these equations and determine relation between

x and y. /FreATeTRaa T2 W g1 |HTehRIT o x 3ﬁ'{yﬁ‘ﬁ'ﬂ:‘m‘%l ATUeRT
ﬁﬂﬁﬁvﬁaﬁgﬁm%aﬁ?xaﬁ? %aﬁgwﬁa’rﬁaw%l

-—

)Ll

fa afad 9esT - Based on Previous Year Paper




MISSION IBPS CLERK-2023 (TARGET BATCH)

In the following question two equations are given in variables x and
— +|4L7-5yl You have to solve these equations and determine relation between
-4 and y.//FAeaferRaa ayr # 2 aeieor =1 x 3R y # fRu u #) sroent

X3> 3 S EHISHTUT <hl BT hTAT € 3R x A y o e Hater (et w2l

3 23+133]
="2

5 3
25+113 4

L. =

11.4)?3@@ Xg'—&g
5\?‘-‘44-5 ﬁg?—_:}%g:;.
B.x<y CxzZy d Sy

E. x=y or No relation can be established

IS Tarer TUTUT et fohar ST aeRarT @
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MISSION IBPS CLERK-2023 (TARGET BATCH)

e -

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//Feteriaa wer & S wfieRtor =R x 3R y # R T ) st

2 13 7 THIRTUT <h1 & AT € 3R x AR y % offrer defer Farif e 2

%5‘7

54 /s‘ | €9

ER 0(3/5-
Lx/5+9 =169 +x"/s 5 X
ny/4>< /4><7_273 ya =D AF XH7E = 1C9xq

433 = %= = 169xQ9
Bg<y C.x2y D.xSy

E x—y or No relation can be established 7(:32 I R X
ﬁéw&wmﬁ?rqﬁmmm% 0 \

WM
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MISSION IBPS CLERK-2023 (TARGET BATCH)

In the following question two equations are given in variables x and

y. You have to solve these equations and determine relation between

/3% and y.//FeafeaRaa wer o St afiertor =r x ﬁ?yﬁ%@wﬁl JATIRT

ﬂ‘gmﬁwﬁﬁ%ﬁﬂ%aﬁ?x IR éga"l%r ﬁra’rﬁ?rm%l
- ¢

f 3

nyl/3 x 14 = (266) + y?/

“ix X 13 = x? ><(247) @’X;— _’19’7(

X9 =g
\76 (x—1) =0
A. x>y B.x<y C.x2y .D. xSy

E. x=y or No relation can be established ’)(Z o 0¥ X—)

@?W%T;Tﬁﬂqﬁmmm% @
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MISSION IBPS CLERK-2023 (TARGET BATCH)
Average of X, Y, Z is 24,/X:Y = ﬁS(+Y = 6V, then find X-Z=?

X,Y,Z ®TNEq 248, X: Y =2: 3, XQY=60,FﬁX-Z =(§Wﬁ?

(a) 16 b 14  (¢)8 @\10 | (ey12
A\
_ £o 24
w‘\—%—?Z X:—EXL 7\2@
o+ Z =F2L

{*{;Ql

:o%ﬁ
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Ratio of speed of boat in down stream direction and the speed of
stream is 9:1. If speed of current is 3 km per hr, find distance

travelled (in km) upstream in S hours.

HATIaTE 9T # 1 <Y i 3 ey ¥ e T AU 9:1 F1 AT e
<ht Tt 3 ToRelt wier wiet &, A 5 6 & Seivrarg foom o ama <6 i ot ar
Ry \/(a) 105 (b) 110 (c) 120 (d) 90 (e) 95

SR ﬂ@’”}u o

‘T) @-%9 - ‘Ql
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Sum of 4 consecutive even numbers are greater than three
consecutive odd numbers by (&0, If sum of least odd and least even

—

number is 59, then find the sum of largest odd and largest even

numbers.

m4wﬁwaﬁwaﬁwam?ﬁ?mm%wﬁwaﬁﬁki aAters

21 Tfe gad B fw o gad Siet 9w §&aT ST anT 59 8, v
T Touw 3R Taw It a8 HEATS T TN AT hifSTU)
%) 69 (b) 71 (¢) 73 (e) None of these

[UEy) < ey xely Qb

\j \<r+z

fa afad 9esT - Based on Previous Year Paper




MISSION IBPS CLERK-2023 (TARGET BATCH)
L‘Zv :%(JCJ

Two different amounts are invested in two schemes. In
scheme A, amount ¥x is invested at 8 % per annum and in
scheme B amount ¥(x+1400) is invested at 12% per annum.

-I—% s z+lhd>b< 2 After 2 years difference between both interests is 880, then

ms

find value of x?

T o B AT # 31 STeTT-3TeTT Uivwt et fema St R

- 027(—)—37(#1202)

[X= Q&o@

lgly

THIH A H, T 2x T 39T 8% Ufaaw 3T ThHiT § B AT

O0b 3(x + 1400) =T T 12% wferas & fram war §1 2 |ver & are

AT ST ok 1 ohT 3T 880 B, AT x hT W AT hIfU?
(2) T7200 (b) 5500 (c) 6800 (d) 7300 (e) None of these

U
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MISSION IBPS CLERK-2023 (TARGET BATCH)

Average age of A and B, 2 years ago was 26. If age of A 5
A—,,? 4,&_*9* — 59  years hence is 40 years, and B is S year younger to C, then

find difference between age of A and C?

d’% =56 A 3R B <hT 3T 3T, 2 9 Tget 26 off) afg A Y 5 99 <y
/’\0

403&%345?13 C@rsaﬁaﬁa% Al A R C & AT H

©)9 (d) 12 (e) None of these
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MISSION IBPS CLERK-2023 (TARGET BATCH)

fThank You\
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